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Chapter 10.02
Parabolic Partial Differential Equations
1. In a general second order linear partial differential equation with two independent variables
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2. The region in which the following partial differential equation
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acts as parabolic equation is
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(G) for all values of 
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3. The partial differential equation of the temperature in a long thin rod is given by
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4. The partial differential equation of the temperature in a long thin rod is given by
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5. The partial differential equation of the temperature in a long thin rod is given by
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6. The partial differential equation of the temperature in a long thin rod is given by
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